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The purpose of this book is to help students learn a common core of vocabulary which will be useful
for almost any subject studied at college or university.

Advice to the Student

Obtain a Dictionary

Before attempting to use this book, you will need to obtain a good English-English dictionary, such as the
English Dictionary for Students (ISBN: 1-901659 — 06 —2) published by Peter Collin Publishing, which this
workbook has been based on.

Using your Dictionary

A dictionary is really a long list of individual words, but in normal situations, words are very rarely used on
their own, appearing instead together with other words. For this reason, the vocabulary you will learn in this
book is presented in example sentences which will help you to understand the words, to remember them
more easily, and to use them correctly.

Doing the Exercises

There are different types of exercises in this book, but one small example will be enough to show you how to
use the book. In these two sentences from Unit One, notice first of all that the other words in these sen-
tences show you the grammar of these words —— here an adjective and then a verb.

1. Aithough not exactly identical, the two books are so to each other that one writer must
have copied much of his book from the other.

2. The Prime Minister set up a committee of financial experts to help him discuss and new
policies.

Working Out the Word or Meaning

Also, notice that the other words in the sentences can help you to guess the meaning of the missing words.
In the examples above, we can see from the phrases not exactly identical and copied much of his book
that the adjective in the first example must mean something like almost the same. In the same way.
because the policies mentioned in the second example are described as new, the verb in the second exam-
ple seems to mean plan or prepare .

1. Although not exactly identical, the two books are so 7 adj ¢ to each other that one writer
must have copied much of his book from the other.

2. The Prime Minister set up a committee of financial experts to help him discuss and 7v 7 new
policies.

Sample Answers

With the exercise from which these sentences were taken, the words similar (adj) and formulate (v),
were included in the list of answers. Because of the grammar of these words and their meanings —— which
we can check in the dictionary if necessary —— the completed sentences will look like this:

1. Although not exactly identical, the two books are so similar to each other that one writer must have cop-
ied much of his book from the other.

2. The Prime Minister set up a committee of financial experts to help him discuss and formulate new
policies.

Keep Your Own Notes

Next, whenever you find out what a new word means, write it into your vocabulary notebook, which you can
organise in alphabetical order like a dictionary. With any new word, you should copy either the sentence from
this book or the example from the dictionary. This will help you to learn the word.
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Words With Many Meanings

When you do look in your dictionary, you may find that one word has many meanings. If you compare these,
however, you will often find that they are not so different from each other, so try to look for one central
meaning.

Words That Go Together

Remember also to write down any other words which are often found together with your new word. For ex-
ample, notice in your dictionary that we normally use the word fo after the word similar (a dependent
preposition) and that it is usually policies, plans or programs and so on which are formulated (exam-
ples of collocations). This information will help you to use the new words correctly.

To sum up:
@ decide if the word in the example sentence is a verb, a noun or an adjective
@ read the other words to help you guess the meaning of the new word
@ then if necessary use your dictionary to select a suitable answer
@ if possible, choose one central meaning for the word from the dictionary entry
@ write down your new word with an example sentence to help you remember its meaning
@ note down any dependent prepositions or collocations to help you use the word correctly

Advice to the Teacher

The purpose of this book is to equip non-native speakers of English at upper intermediate level and above
with a core of sub-technical vocabulary relevant to the full range of university subjects.

It is envisaged that this book will be used to supplement an English for Academic Purposes/Study Skills
course, at foundation, undergraduate or postgraduate level. It may either be used in class or be assigned for
study on a self-access basis.

The vocabulary items presented here are based on research by |I. S. P. Nation” , which culminated in a series
of approximately 800 words ranked in sets according to their frequency of occurrence in texts drawn from a
number of very different academic subjects.

Since the order of the eleven units presented in this book reflect this ranking. the words in Unit One have a
wider range of application than those in Unit Two and so on, which means that students should work through
the book sequentially.

Inside the units, each word is presented in an example sentence which aims firstly to provide a context from
which students may be able to infer the meaning of the word in question and secondly to give instances of as-
sociated words such as collocates and dependent prepositions. This form of presentation will allow students
to find out not only what words mean, but also how to use them.

The exercises include gap-filling, word matching, identifying synonyms, matching sentence fragments, and
word-completion. In all cases, the style and content of the examples | have written are intended to be typical
of language used in academic contexts.

In approaching the exercises, it is vital that students use dictionaries appropriately, and far preferable that
they use a English-English learners dictionary rather than a translation dictionary. Similarly, it is important
that students do not regard simply filling in blanks as the sole purpose of this book. Instead, students should
approach vocabulary learning actively. This means keeping a vocabulary notebook in which they should be en-
couraged to write an example for each new word, with special attention being paid to any dependent preposi-
tions and collocations.

Although the immediate goal is for students to learn the words here, if it can encourage students to take a
more active, thoughtful approach to vocabulary learning, this book will have succeeded in its wider aim.

“Nation, |. S§. P. (1990.) Teaching and Learning Vocabulary. Boston. MA. Heinle & Heinle.
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1a — Fill in the gaps

From the following list, use each word only once to complete the sentences below. Remember that in
the case of nouns and verbs you may need to change the form of the word.

arbitrary (adj) -+ assign (v) + context (n) + criterion (n) + data (n)

denote (v) » devise (v) - formulate (v) -+ ignore (v) « impact (n)
similar (adj) « summary (n) ¢« usage (n) « vertical (ad))
1. Although not exactly identical, the two books are so to each other that

10.

11.

12.

13.

14.

one author must have copied much of his book from the other.

The Prime Minister set up a committee of financial experts to help him discuss and

new policies.

It is often possible to guess the meaning of a word from the other words around it —— that is to say, the
About 100 years ago, Marconi a way of using radio waves for communi-
cation.

In newspapers, the layout of the columns is , while the rows run across

the page horizontally.

The rise in the number of deaths from AIDS has had a very significant on

people’s sexual behaviour.

The of drugs has increased significantly in spite of more severe penalties

such as longer prison sentences.

Students should not try to write down everything they hear in a lecture, but just make a
of the most important points.

We use the term "class” to groups of people who share the same social
and economic backgrounds.

In one case, a murderer may go to prison for life, while another may be set free: it all seems completely

The new journalist was to researching the election promises of the main
political parties.

Before we can judge a government’s success, we have to decide the

such as unemployment, defence or taxation.

One student failed because he completely the instructions on the paper.

although they appeared at the top of every page.

Market researchers use such as people’s spending patterns as well as in-
formation about age and occupation to decide on the most effective marketing strategies.
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Analysis & Solution
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1b — Choose the right word

In each of the sentences below, decide which word in bold is more suitable.

10.

11.

12.

13.

During the 1970's and 1980’s, it became increasingly evident/ visible that companies in the West were
uncompetitive.

The United Kingdom makes / publishes more books than any other country.
There has been a major road accident, involving/including 23 cars and 16 lorries.

On the basis of the latest survey, we know that most people have a very negative/bleak view of politi-
cians and their parties.

In many parts of the world, people are becoming more worried about the danger of pollution and its
effect on the environment/ecology .

Education experts from France travelled to Japan to evaluate/ judge the secondary school system there.

Although it is not very big, the library has an excellent range/variety of books, journals and other re-
sources for study.

Increasingly, the design of buildings is being adjusted/modified to allow easier access for disabled
people.

The lack of extra student accommodation restricted/ narrowed the expansion in student numbers which
the university was planning.

Many students acquire/derive a great deal of enjoyment and satisfaction from their time at university.

Although the world is getting warmer slowly, the increase in temperature varies/ fluctuates from coun-
try to country.

Following the bank raid, the police followed/ pursued the robbers but were unable to catch them.

Assessment on this course includes/ consists of coursework (30%) and examinations (70%) .
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Analysis & Solution
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1¢ — Finish the sentence

Choose the best ending for each of the sentence extracts below from the list underneath.

| like your essay, but | want you to illustrate . ..

What will the result be if in the future we assume. ..

Students may be asked to compare many alternative. ..

The Channel Tunnel between France and England was constructed. . .

Everyone wants to be happy, but we probably all define. ..

Many universities now have language centres to facilitate. ..

Numbers and results are not particularly useful in themselves; we need to interpret. ..
In spite of warnings about cancer, many Westerners equate. . .

© o N OO~ w2

Advertisers use a variety of techniques. ..

-
o

. At first, the police viewed the crimes as random. ..

—_
—_

. It may be the case that no solution is possible, given the magnitude. . .

—_
N

. Although computers are becoming increasingly complex. ..

—_
w

. The investigation was stopped because the witnesses could not identify. ..

.. theories, from which they have to select the most convincing.
. . happiness in many different ways.
.. that nearly everyone has access to a motor car?
.. the programs they use are becoming much easier to operate.
..a sun tan with health and youthfulness.
.. the man they had seen commit the robbery.
.language learning for international students.
..at a cost of over £8 billion.
i. ...of this problem.

T 9 a0 T o

j. ...them to understand what they actually mean.

k. ...events, but realised later that there was a pattern linking them.
I. ...to persuade consumers to buy products and services.

m. ...your points by providing some supporting examples.

1d — Word substitution

From the list below, choose one word which could be used in place of the language shown in bold with-
out changing the meaning of the sentence. Remember that you may need to change the form or in some
cases the grammatical class of the word.

comply with (v) « conclude (v) + equivalent (adj) -+ guarantee (n)
imply (v) « method (n) + obvious (adj) + presume (v)
proceed (v) » require (v) + specify (v) + sum (n)

1. If a company does not observe health and safety laws, it may be fined very heavily if
any of its workers are injured.
For many years, $ 4 was equal to £1.
University regulations state that students must pass 18 modules to graduate.

4. Anybody driving a car is obliged by law to have insurance.

9uUo jiun



unitone

10.

11.

12.

On the basis of their examination results, it was clear that most students had completely
misunderstood the first part of the paper.

Many people think that oil will run out in the next 100 years, but they are assuming that
we will continue to use oil at the same rate as today.

Most electrical products have a one-or two-year warranty in case something should be
wrong.

One problem facing overseas students is adapting to new teaching techniques.

The fact that crime increases when unemployment goes up seems to suggest a link between
the two.

It will cost an overseas student at least £10,000 per year to live and study in Britain,
which is a very large amount of money.

The lecturer gave the students a 10 — minute break before continuing with the rest of
her lecture.

At the end of her talk, the lecturer finished with a brief review of the main points.

1e — Choose the best word

For each of the following sentences, choose the best word from a, borc.

1.

10.

11.

12.

13.

In this first assignment, we will your work and then give you detailed feedback on how
to improve your writing.

a. assess b. judge c. measure

In a seminar or tutorial, everyone should take part rather than allow one person to the
discussion.

a. overwhelm b. dominate c. oppress

Although it is impossible to give a age, we believe that the woman was between 25
and 30 when she died.

a. definite b. certain c. absolute

Rather than try to treat it, the best to the problem of poor public health may be to at-
tempt to prevent it.

a. way b. method ¢. approach

Surprisingly perhaps, the biggest health risk for tourists travelling abroad is actually
road traffic accidents.

a. potential b. possible c. theoretical

Water is made up of two , namely oxygen and hydrogen.

a. sections b. aspects c. elements

Computers can be difficult to repair because there may be hundreds of different inside.
a. components b. pieces c. parts

Because Paris is expensive, many organizations pay higher salaries to for the high cost
of living there.

a. compensate b. adjust c. redress

Many people were killed instantly at Hiroshima and Nagasaki, but thousands more died from
radiation sickness.

a. succeeding b. following ¢. subsequent

The clothing of men and women used to be quite » whereas today women often wear
trousers as well as men.

a. distinct b. diverse ¢. distinguished

Research that customers want free car-parking when they go shopping.

a. claims b. indicates c. points out

In political terms, the Middle East is one of the most unstable of the world.

a. locations b. places c. regions

The cause of death today in Britain is heart disease, with cancer in second place.
a. first b. prime c. initial
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6% 11 @ continue JyH WA, I B N7 %1 18 3h1 proceed J 4k 4k 31T H0 B, B 8] 53 & & £ ¥ proceeding
(FEEEREL .

FE12F REAE, A finished Lo GRMEBEE HHEREINELSHNHERB:; AN XEEHE X
24 F concluded(Gt ) .

1e

paRaRRe
)

Cmereatmemne

MR R 1) B 55 AT F B B TR B K 2R, LA R X3 SCIRI B AT . HERR 6 2 B A B M 1

LR OBk

Omeaanneinetd
gﬁ*&%gﬁﬁ’rﬁlﬁﬂﬁﬁﬂiﬁlJE%’@EPE%ﬂ%@ﬁl’ﬂ@;%)ﬁéﬁ%%ﬁﬂ%%&’ﬂtFE%ﬂféﬁiﬁﬁﬁthﬁ?l@%

R,

{ppRaTR AR
1B assess 3 to judge the quality or worth of (V¥ %€ it B 5 #1 {A) ; judge 3§ to form or give an opinion
about sth. (W W% ) ;measure 1§ to find the size, length, amount, degree, etc. in standard measurements( EE).
%% 28 overwhelm #§ to defeat or make powerless({| i) ; dominate # to have the most important place or
position (in) (J& £ L) ; oppress #§ to rule in a hard and cruel way (FEifi). ¥ 4)42 5| everyone should take
part, M AEN S 5 , WM B RA LN FIA GELITITEN S BREE ES EaT i , #% dominate,

%% 3 definite # without any unclearness (B ¥] 1Y, & 2 #) ; certain 1§ established beyond all doubt or
question (i & #) , TLEEAY) ; absolute #§ not allowing any doubt (#i & 1 yHHSER) . certain 5 absolute #5358 A 3
FRARBEN, MILATE— BB BUE, BER, $E definite,

S4B A TEKNER approach SBERKH AL BE T B way JF R —MB W to do sth. B of doing
sth. ;method [G & B — M for doing sth. ;approach J5#H K to sth. 5 to doing sth. , Bk approach,
HEOE HARERNEHR theoretical i 9 ; K, possible #§ that may or may not happen 51y, 0]
RE/Y ; potential 3 not at present active or developed, but able to become so AR, 8% potential,

BEOH AUELERE BKMARNETEMEATE. H5HR aspects, #5980 R F 7 6 Lk,
sections $§ a part of a larger object, place, etc. A 5} & FYZB4Y , X 45 ; elements FEWFICE  HIE elements,
FETE WAFENFEITEITH. BHER pieces B (K — B b 3 7% sk 47 7 50) 8 2 5 HoUK L parts 38
H AR —BIRBIER S5 components $53 — HLAS B R G AT T 10 43 2B 4%, BT LA’ % components,

%% 8/ compensate #§ to provide(sb. or sth. )with a balancing effect for some loss, ¥M% , 4% ; adjust #§ to
change slightly in order to make suitable for sth. J8%& , {#5& i ; redress 5 to put right(a wrong, injustice, etc. )
HIE.EIE., BB, 0B E A AL BB, H A EE AN for, $¥% compensate,

FE O succeeding SHHKITR BT B9, 5B B R F; following #5 next, BJUFF b i) HK# subsequent #§
coming after sth. else as a result of it FEF MY SRAMHERE X R, MATBEHEBRED TI —HAF S8, 8k
subsequent,

HE10M R4, BB L BAEE T 58 759 N B M7 %17 whereas A &l T EF L EEEHB R HE
SCHERR diverse BIBHEAL, &R &£, ML 55 L AR R H ; B K, distinguished 6 S48 19, K 19, 5 B &
¥ s distinct 384 B8, AR B, #3k distinet,

FENE HEXBETRIES research(BH5) M E 13 . claim $§ to declare to be true, (3 A) H#, 75
BHHFE, 5 research RERT, MHERR ; point out 3§ to draw attention to (sth. or sb. VI, {# i & s indicate $§ to
make clear 280, #3% indicate,

eF 12 HIHERR locationsGEA 3 — 15 3 9 1 5 .1 B) ; place ZHREERBNHT , B & X E % regions
X X, 45 EE, % regions,

HE 13 first 3BT ; prime 3§ first in importance FER . B EM;initial # which is the beginning of B ¥
HLEVIE . BREETH, DERESHERAR T WS —HE, B NS N, Hm, WEREEZmIEK
FF 243, Btk prime,
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1f — Make a collocation

Start by reading through the sentences below. Then take one word from the box on the left and com-

c
o

r-l-
o

bine this with one from the box on the right to make a collocation. For example, valid can be joined 53

with reason. (Note that more than one pairing may be possible and also that some words appear more 1]

than once.) Then try to match your combinations with the spates in the sentences below.

put forward - ultimate -« establish status + concept -« responsibility -+ results
reverse -« initial < analyse -+ new the verdict -+ role - atmosphere -+ reason
valid + new =+ tense -« leading temperature -+ a hypothesis + a link
marital « minimum < constant requirement -+ dimension -+ results

10.

11.

12.

13.

14.

If you submit work late, you will lose marks and may even be given a fail grade, unless you have a

such as illness.

One travel company is now advertising a completely in tourism: flights into

outer space by rocket.

At the bottom of the ocean, the water remains at a
weather conditions at the surface.

irrespective of changing

The growth of China will add a
Far East.

to the economic and political situation in the

Students are expected not just to describe what they have done but also to

when they write a research report.

Investigators have been able to between childhood illnesses and industrial

pollution.

Following the demonstrations by thousands of students, there was a very in
the capital, with many choosing to leave the city and head for the countryside.

Unfortunately, although the were very promising, the project failed in the

long run because of a lack of interest.

Engineers have played a in improving our health by giving us clean water sup-

plies, perhaps more so than doctors.

The Managing Director may run the company, but
Directors.

rests with the Board of

On the form, please give your name, nationality, address and indicate your

When some scientists originally known as global warming, the idea was not

taken seriously, and yet today it is accepted by nearly everyone.

In some instances, a Court of Appeal may reached at the first trial and re-

leased somebody who has been wrongly held in prison.

Most universities require international students to have an IELTS score of 6 (equivalent to a TOEFL score

of 650) as a for English language competence.
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Analysis & Solution

%@%?XT#EEH‘J%?ELFHE‘E)’J AU B R SCR AL B B8 E BT e B R A S

CR BRI

BARELAMATEDARNEAE REXBBARNBE: ER. A0 EREOE . REEXOENEE, WiERA.
i, R RS AGREBECHERRE I E X ERLMNAE R TN AL B2EABR. BS54 %8, H
EEE,

ppeE TR

5wy

Htsanmnasts

HETE ML AR, B RN & A R 54 8, T HE R B 7T 8 8 20 45 HE 1 reason — il , i HL 4%
FE R 8 — T 38 M AL B H . 5 reason #E, EF &AM HA valid —ia, ¥ (g 38 52 W81
B, BB S B E N valid reason,

HE2F FF-B.ZALMKHEEE+ LiEMEEH. BXREANETHEEA N new, B K HKTIERRK
N—FEERTH . HE RIS E , Ak concept (HE &) —idl,

HEIW FEANOBETHERHBESTHLS HR, BRBEGDTFEMTE, S A0 WA + &R0, T
Feri I A1 constant (R AE{Y AEE #) , AR # weather conditions ] 8 & FAH %7 K temperature , # 5 %
7 constant temperature,

HEAE BHE ZSOALMIEFR+LZRANEN, BEDEEREE, THEHEETN new, BRIES add
HIREAC R R, A7 HEBR Hth 45 37) i 1% dimension (4 5 . A ) » B % new dimension,

RESE HA.-WESALE TN, SHARA B X RWIIATHE Y analyse(4H7) . B TF analyse ¥
KWy shin] . B3 T2 980 Bk 44 1) , T 45 40 B B B 9 R 4B BC 19 9R] A results, B %8 0 analyse results.

HEOM HATRBELEHWEARES AL NHELSH; K, MBI between. .. and . ﬁ*ﬁjfﬁﬂﬁﬂﬁﬁjﬂ
alink(BER);IBIEEIE investigators(iﬁ]ﬁkﬁ)ﬂ%{]ﬁ—@é%\@j@~%‘iﬁﬂﬂ@$%,_fﬁ put forward 5 estab-
lish P3G A3 #8 , 1 link 5 put forward (32 1) R ED , 83017 % K establish(B7) .

RETE HEWMEZALNEAR+ LIESEH; HKERE demonstrationsGR BT » RBE A S FHATH &
FEXECHA AT SLHEH BN tense CEIKA) s HRIE DB K tense BB A MER & 4178 atmosphere.,
RESHE MELEWITHESALABAT+ LIMMSH. W% although 7T 175 B ANE &7 & R
5 in the long run A%t , P i # & & 498 24 initial (BHI M) ;T 5 the project A1, H 5 promising(H #EM, H
AT & A9 A H8 BC I 4 18] AT AR B HERR B B GE 1 results,

HFEOM REMNEREEA -TER. RAESBRYE play a ... in EHWHES AL ZFH role, B play a role in
(FE-eeeee EF‘@@H’EFH) WEEEa T ESE i, Eﬂjﬁﬁmff/ﬁﬂjﬂ leading(XEH  HREEHK).,
HEI10@ EHEMEH FRDFiE, HREIE the Board of Directors —i A1 4, 54 H & LAE R HETH re-
sponsibility; LK MR 4EA) F & L AT A& R AEE H, Mk EAEE F A &, BT 2178 ultimate (B 1) .
HFENE ERGEEBEE A SHEABAX MEERT N ENACHERNELE S, HARHNANE
RN NEAF R, B o5 E A7 marital QB ; #F T M 3 marital EHERPREEEETHE S
7] K status,

HE12W HEHIETTALNNESEW, B originally (B #]) AT 3%+ put forward % establish; BIER T 554,
the idea Jif 5 %5 F1 Ak 42 17 1) UAHGE , ] £ 4% concept B hypothesis, i global warming(4 8 Fi8) & — —4EEHR
BEMAR M HRELENES, ATHEE concept,

HEIBE REATEN THETALNNEEN., B court (B EE) X — B8 7§ 5 HI 26 7% verdict CH|
#) . HIEBENENBHBEIRXITH A, H Court of Appeal $5 FFEERE, (2 FI AL W] 8B 9 & SR oA JR K 1
R, S E LREHE RA reverse(K 48, BIH) . verdict R AT ¥ & 1A, B HJG A 218 M /Al » w78 BEZEINE
€A the, )5 & % 4 reverse the verdict,

FEME ZFALANMARE, HLPORMNLE. BIE require — 18 BT 1k H 2 EILZH?J requirement; il 5
MRS EMA TR T BN EEESENERTEAMNSIEHEREES, WTHE requirement f¥ Hif
BE1E N minimum G/, &),
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2a — Fill in the gaps

From the following list, use each word only once to complete the sentences below. Remember that in
the case of nouns and verbs you may need to change the form of the word.

achieve (v) -« automatic (adj) <+ conceive (v) + create (v) + ensure (v)
equilibrium (n) « manipulate (v) + mathematics (n) -« innovative (adj)
period (n) - precede (v) -+ section (n) <+ series(n) < stable (adj) -« tradition(n)

1. In order to be successful, some politicians other people to get what they want,

2. Japanese and Korean companies have invested heavily in the UK, thousands of new
jobs.

3. The Internet was first of as a way of linking computers in the USA together.

4. Serious unrest and rioting as a result of the decision to ignore the result of the
election. ‘

6. Since consumers are always demanding new products, companies which can be
are more likely to succeed.

6. Most planes today are controlled not by human pilots but by a computer system known as an
pilot, which is even responsible for taking off and landing.

7. Most employers insist that their employees have qualifications in English and

8. Some academics have argued that standards have been falling because more students are
first class degrees.

9. Overa of twenty years, the economy grew at an average of 8% per year.

10. The price of a product will not change if there is between the supply and the de-
mand for that product.

11. By » wedding guests in most cultures give presents or money to the newly-
married couple.

12. In addition to the regular lectures, we have a of public lectures given by guest
speakers from other universities.

13. Although the arrival of coffee in Britain that of tea, it is the second drink which is the
more popular today.

14. Reports are usually divided into separate with headings such as ‘Findings’ and
‘Conclusions’ .

15. After a very difficult night, his blood pressure became again and his family were
allowed to visit him.
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